Chilli Challenges – Year 5
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The total weight of 5 watermelons and 3 pineapples is 31kg. Each watermelon weighs 3kg more than each pineapple. Find the total weight of 4 watermelons.
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Here is a picture of a square drawn on cm? paper.

Draw another rectangle with the same perimeter as this square.
Do the two rectangles have the same area?

Is this always, sometimes or never true of other pairs of rectangles with the same
perimeter?

Explain your reasoning.
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Here is a picture of a square drawn on cm? paper.

How many other rectangles are there with the same perimeter as the square,
where the sides are a whole number of cm?

Show your workings.
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Seb had some cherries.
Every day he ate 10 cherries and gave 5 away.

After he gave the last 5 cherries away, he had
eaten 40 cherties altogether.

How many cherries did Seb have at the start?
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A shop sells fruit

Chen buys 2 apples and 3 bananas.
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Megan buys 2 apples and 1 banana.
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How much does one banana cost?




